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TOTAL MARK (60 Marks)
I- READING (30 Marks) 60
A- Vocabulary ( 14 Marks ) . |
A -From a, b.c and_d choose the correct word that best completes each of the
following sentences:(4 x 2 = 8 Marks) 30
1. Ican't put up with the........................ in summer. It makes the weather even worse.,
a) product b) reaction ¢) humidity d) motion
2. Ineedto...................... the Microsoft Office programs on my laptop as it stopped
working.
a) vote b) spread ¢) activate d) deliver
3. Some poor farmers live in...................... cottages in their fields.
a) talented b) modest ¢) influential d) intended
4.Drug......c.covviiii, is a serious problem that needs urgent solutions.
a) fortune b) narration c) restriction d) addiction

B) Fill in the spaces with the most suitable words from the list below: (4 X 1% = 6 Marks)

suitable - banned - dramatic - involved - electrical
5. There is a dramatic change in the students' behaviour after the good exams results.
6. Smoking is strictly banned in public places in Kuwait.
7. The teacher involved all the students in yesterday’s activities.

8. I think this jacket is not suitable for you, it's a bit loose.
-1-



N sl
2019 72018 (ol il SN Prcpant sl 3 Rl il Trct ke hill Syl

B- Reading Comprehension (16 Marks)

16
Read the following passage carefully, then answer the questions below:

Many children want to have pets. A pet is an animal that's kept at home as a companion

and treated kindly. But parents don’t like the idea of having a pet dog or a cat in the house.
Dogs and cats are both popular pets. Some people prefer having pet cats as they are nicer in
some ways. They are cleaner and quieter than dogs. Cats are safer. Dogs sometimes bite people
in the streets, but cats never do. Friendly cats are easy to take care of, You don’t have to spend
much time with a cat. In fact, many cats prefer to be alone.

Some cats help people when there are problems. For example, on farms and in old
houses, cats can help. They kill small animals like mice and rats. But cats can be a problem in
cities. In Rome, for example, thousands of cats live in the streets and old buildings. They make
a lot of noise, and they are dirty and dangerous.

In fact, pets can be good for children. This can be especially important if there is only one
child. Children can also learn a lot from pets. They can learn many things about animals and the
natural world and how to take care of them. They do not forget what they learn about their pets.

This is very much important for all children.

a) From a, b, ¢ and d choose the correct answer:(6 x 2 = 12 Marks) Q
9. Which of the following is the best title of the text?

a. The Natural World c. Cats as Pets
b. Pets’ Help d. Children and Dogs
10. The opposite of the underlined word “easy” in the 1 paragraph is:

a. important b. famous

c. difficult d. quiet
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11. We can understand from the 2nd paragraph that:

a. pets mean a lot for children. b. cats are more dangerous animals.

¢. cats can be helpful. d. parents do not like pets.

12 The underlined pronoun 'They' in the 3rd paragraph refers to:
a. pets. b. children.

c. animals. d. things.

13. According to the text, which of the following statements is TRUE?
a. Dogs never bite people. b. All cats are noisy and dirty.
c. Cats could help people. d. There are no cats in Rome.

14. What is the writer’s purpose of writing this text?

a. To show that all animals are dangerous.
b. To inform us that children can learn a lot from pet animals.

¢. To make it clear that most of the children do not like animals.

d. To show that people and animals cannot be friends.

b) Answer the following questions in reference to the passage: (2 x 2 = 4 Marks)

15. How can cats be helpful to people?

They kill small animals like mice and rats.

16. Why do some people prefer having pet cats?

Because cats are nicer, cleaner and quieter than dogs.
(Any reasonable answer is accepted.)

-3-
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II- WRITING (30 Marks) 30

A- Grammar ( 10 Marks )

10
A) Choose the correct answer between brackets: (4 X 1 =4 Marks)

17. After I (have finished / had finished / finish) my work, I walked home. (Although / But /
So) it was so cold, I didn’t take a taxi. I walked home from my work (who / which / when) is in
the city centre. I was about to freeze and I had a bad cold. If it is cold next time, I (will call /

calling / called) a taxi.

B) Do as required between brackets: (3X2 =6 Marks)
18. “Don’t be late again”, said the teacher. (Change into reported Speech)

The teacher asked me not to be late again.

19. British people speak English. Canadian people speak English. (Join using: ‘both...and’)
Both British and Canadian people speak English.

20. I need to fix my iPad. (Make Negative)

I don’t need to fix my iPad.
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B- Writing (20 Marks)

Write on the following topic:

There have been very huge changes in the way we communicate now. Some people think it
is better to use digital communication. Others believe that face to face communication is
much better.

Plan and write a composition of two paragraphs of not less than (10 sentences)

about both points of view and state your own opinion.

Plan (3 Marks)
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The Topic (17 Marks)
Rubrics Mark | Mark |Total Mark
Outline 3
Exposition of ideas and coherence 10
Paragraphing and number of sentences 3
spelling 1
Grammar 1 20
Handwriting, spacing and punctuation 2

* 2 marks to be deducted from the total mark for changing the format.

*QOff point planning/topics receive zero



